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1. (5 points) Find all the currents in the circuit below. Solve by row reducing an augmented matrix. You may
use your calculator to do the row reducing in this problem.
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2. (4 points) Prove: V x e R, if x ¢ [2,3] then (x —2)(x —3) >0
f_/oap'. Let x € R om/ 5‘vf/vfe, x ¢ [2;3:'.
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Then (x-27(%x-2) = (/005)(/05> :/025. ) o [)"';‘9[”'3) >0,
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3. (1 point) Disprove: V x € R, if x > 0 then sinx > x
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Extra Credit (5 points): Solve the following system of equations. Row reduce by hand, do not use a calculator,
and only do one row operation at a time.
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X1+2x— x3+2x4+x5=0
X1+ 2x2 + 2x3 +x5=0
2x1 +4x — 2x3 4+ 3x4 +x5 =0
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